D1vISION WITH A REMAINDER II (H - SET 3)

DIVISION WITH A REMAINDER Name:
Time: Score: y—

391) 43968 =— 6 = 106) 16227 =8 =
392 16711 — 4 = w07 24085 + 9 =
393 1413 =7 = a08) 17195 + 3 =
399 67085 = & = 109 60436 = 10 =
395 5309 =9 = 10 85851 +9 =
306) 23864 + 3 = ) 6753 -4 =
307 3502 = 10 = 12) 23321 =6 =
308) 23495 + 5 = 13 28669 + 6 =
399) 45608 + 6 = sy 8744 +8 =
100 30422 =6 = 15) 4854 + 2 =
w01 59607 =7 = 16) 3153 +1 =
102) 49655 + 9 = nn 37352 +4 =
103) 32385 + 6 = a8 44894 + 9 =
101 26124 = 5 = 19 12091 =3 =
05 41326 -9 = 200 19590 + 4 =

Mathematics: Division - Level 8 - Horizontal - Set 3
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